Precalc 12.6

Use the binomial theorem to expand binomials
Find the nth term of a binomial expansion
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o .——'"""3:1 riangle to expand each binomial.
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Use the Binomial Theorem to expand each binomial. (Pascalls triangle)
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b. 3x + 2y)7



An equivalent form of the Binomial Theorem uses both sigma and factorial
notation. It is written as follows, where n Is a positive integer and r is a positive

integer or zero.
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"Expand” vs find a specific term



"Expand” vs find a specific term

o Find the fifth term of (4a + 3b)7.



9. 6th term of (a — b)7



10. 4th term of (x + V/3)*



